HAJDUNANAS, KULTERULET, 047. HRSZ-U UT BURKOLATFELUJITASANAK
UTEPITESI KIVITELI TERVE

SAROKPONTOK KOORDINATAI (EOV)

SP1 X= 830809.8738 Y= 282454.8061
SP2 X= 830808.3729 Y= 282505.8032
SP3 X= 830806.2626 Y= 282548.1452
SP4 X= 830804.9279 Y= 282582.5150
SP5 X= 830804.2944 Y= 282611.1097
SP6 X= 830802.6432 Y= 282652.8325
SP7 X= 830799.5407 Y= 282744.0549
SP8 X= 830800.0330 Y= 282753.1532
SP9 X= 830787.0757 Y= 283076.9186
SP10 X= 830786.3950 Y= 283087.8603
SP11 X= 830781.4461 Y= 283210.2943
SP12 X= 830772.3857 Y= 283422.2117
SP13 X= 830752.5605 Y= 283908.9029
SP14 X= 830752.0123 Y= 283912.5627
P1 X= 830815.7137 Y= 282295.5872
P2 X= 830810.0065 Y= 282451.1890
P3 X= 830809.7673 Y= 282458.4241
P4 X= 830808.5227 Y= 282500.7115
P5 X= 830808.1193 Y= 282510.8907
P6 X= 830806.5360 Y= 282542.6600
P7 X= 830806.0495 Y= 282553.6331
P8 X= 830805.0896 Y= 282578.3526
P9 X= 830804.8357 Y= 282586.6796
P10 X= 830804.3908 Y= 282606.7599
P11 X= 830804.1223 Y= 282615.4573
P12 X= 830802.8630 Y= 282647.2783
P13 X= 830802.4542 Y= 282658.3879
P14 X= 830799.6905 Y= 282739.6520
P15 X= 830799.7788 Y= 282748.4539
P16 X= 830799.8448 Y= 282757.8556
P17 X= 830787.2969 Y= 283071.3915
P18 X= 830786.7322 Y= 283082.4393
P19 X= 830786.1757 Y= 283093.2873
P20 X= 830781.5401 Y= 283207.9673
P21 X= 830781.3466 Y= 283212.6212
P22 X= 830772.4718 Y= 283420.1973
P23 X= 830772.3036 Y= 283424.2263
P24 X= 830752.6484 Y= 283906.7431
P25 X= 830752.2402 Y= 283911.0406
P26 X= 830751.9019 Y= 283914.0978
P27 X= 830806.1534 Y= 282291.2666
P28 X= 830813.2034 Y= 282302.6416
P29 X= 830833.1519 Y= 282303.6070
P30 X= 830818.8544 Y= 282312.2667
P31 X= 830818.5448 Y= 282320.7079
P32 X= 830817.4791 Y= 282329.3023
P33 X= 830816.4134 Y= 282337.8967
P34 X= 830798.2679 Y= 282715.2861
P35 X= 830797.6171 Y= 282719.7107




SAROKPONTOK KOORDINATAI (EOV)

P36 830796.9663 Y= 282724.1352
P37 830796.3545 Y= 282742.1248
P38 830797.1495 Y= 282748.4272
P39 830798.3354 Y= 282758.0607
P40 830786.1278 Y= 283131.6111
P41 830793.7982 Y= 283139.9277
P42 830793.6770 Y= 283142.9252
P43 830785.3604 Y= 283150.5956
P44 830782.7771 Y= 283214.2651
P45 830783.1900 Y= 283219.2452
P46 830783.6028 Y= 283224.2293
P47 830782.8339 Y= 283242.2129
P48 830781.9973 Y= 283247.1436
P49 830781.1608 Y= 283252.0703
P50 830778.1704 Y= 283251.7933
P51 830777.7517 Y= 283246.9621
P52 830777.3390 Y= 283241.9780
P53 830778.1078 Y= 283223.9944
P54 830778.9445 Y= 283219.0637
P55 830779.7741 Y= 283214.2858
P56 830761.3066 Y= 283657.3387
P57 830761.1389 Y= 283661.4549
P58 830760.3125 Y= 283666.3862
P59 830759.4861 Y= 283671.3174
P60 830759.4616 Y= 283671.9862
P61 830751.8663 Y= 283667.9633
P62 830751.9885 Y= 283664.9658
P63 830764.3041 Y= 283657.4608
P64 830764.1364 Y= 283661.5770
P65 830764.5590 Y= 283666.5591
P66 830764.9816 Y= 283671.5413
P67 830764.9516 Y= 283672.2098
P68 830774.8473 Y= 283668.8994
P69 830774.9694 Y= 283665.9019
P70 830757.4511 Y= 283721.2760
P71 830757.8737 Y= 283726.2581
P72 830758.2962 Y= 283731.2402




